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SiNleyenraseT : (1) Ameansg elamssesb sflwurg udeurdl o drargr erarugame FflumTég) s
Qamaremeybd. FslILSeND GapullmLlilber oemns seamsmenilliumerilLb
o | amquinss Cgfledssal.
(2) Beod eoeg smUY owullamar WLLEOCL  TPFHESH G
Sg5CaMg(hHeaugH@n LweaTl(hss Coalar(hb. LLBIGET alameusnd
Quemdled Lwiem(HSSeLb.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

@lly : uES-I (2-wif-greureiiwe), LGS -II (2 ulf-elemdwud) sallssal el gsmafle
e weflGsa .

Note : Candidate should answer Part-I (Bio-Botany) & Part-II (Bio-Zoology) in separate
answer-books.

U@ - I (2-uilfl-greureflwev) / PART - I (BIO-BOTANY)
(&HiGlLevsTa6T : 35) / (Marks : 35)
Slfley - 1/SECTION - 1
GOy : (1)  emensgl efamssErdsEhn elenwellésea,. 8x1=8
(ii) Gar@ssiul(herer wrHm edleseafled Waab ghumLw alanLamws
Cambos(hssis GOUILHLer eleLulemarb Caigg e (pse.

Note : (i) Answer all the questions.
(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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1.

STH&ET AP eTeng (penanmisdlsd Caeudldveaney ?
(1) wrHPEESILIL L 2 6TeEhiT aureilane

(=) Cousloner oer | 558 HLpHS

(@) Qunems aumflL aunaileane Hlaned iHlFed

(FF) et iy

Deforestation does not lead to

(a) alteration of local weather conditions

(b) quick nutrient cycling

(c) destruction of natural habitat weather conditions

(d) soil erosion

FOSHSHTUI GObusmss Caibsg.

(=) QarCaGard (<) eouinCrsl
(@) oGuGud () sdera)CluCrél
Cardamom belongs to the family

(a) Solanaceae (b) Piperaceae
(c) Fabaceae (d) Zingiberaceae

FTEUIGSEHSE JDD DG NS :
(1) LF®E LOGT (<=4,) el ewr
(@) wewred (FF) QUERTLG) LOGHT

The ideal soil for Cultivation is :

(a) Loamy soil (b) Clayey soil

(c) Sandy soil (d) Silt soil

MEUTEN DD STEUNTBISET @ @B 2 (HeurssLL(hElerment.
(1) EGSHSF aleTmiiLy (=) Q&6 Wgeme cueTiLiL

(@) yCrriGLmlermevl euermiy (rF) 2 miliL eueriliL
Virus free plants are developed from :
(a) Meristem culture (b) Cell suspension culture

(c) Protoplast culture (d) Organ culture



3

“@BHw usamwll Ll fuler ghens” eTaT SenpssliLBE DT,

(=1) M.S. seumdprgeo (<=4) P. wGaeveurl
(@) Qe () Qped Clgguigmnen
is called as “Father of Indian Green Revolution”.
(a) M.S. Swaminathan (b) P. Maheswari
(c) Mendel (d) Nel Jayaraman

QLoLlCrrAlum Qumiwyflwm e

(<=1) 2wl seersCsmae) (<) 2.u4f 2_7b

(@) s 2.7ibd () 214 y&slsbamaed
Tephrosia purpurea is a

(a) Bio-herbicide (b) Bio-fertilizer

(c) Green manure (d) Bio-pesticide

Qarhssuul_(hetereupdled erg CLm CaHLILL &S sTeursamss GN&SHng ?

(=) & g& (<) &

(&) smapan Se (m) s@ueou
Which of the following represent Megagametophyte ?
(a) Nucellus (b) Owule

(c) Endosperm (d) Embryo sac

D@L SR 2 GTLMT&H@GLD LUngleflwm :

(<=1) erav@efaHlur Carenen (<) Cudldvevev FLiigadlev

(@) Cudlovevev giMeEpdlCwendlov (rr) H&Crm urseMubd GuUOICLSWeTa
The bacteria responsible for causing Crown Gall :

(a) Escherichia coli (b) Bacillus subtilis

(c) Bacillus thuringiensis (d) Agrobacterium tumefaciens

6627

[ Hmluys / Turn over



6627 4
lfley - 2/SECTION - 2
@l : Spssramid elamsseaier gCHeID HIesE@ NaTésERsE el wWaildse,L.

4x2=8
Note : Answer any four of the following questions.

9. VCLMAWILD 6TemmTed GTEaT ?

What is Stomium ?

10. @aanr GCaTglen UMmSHMETS H(hHs.

Give the types of Synapsis.

11. wrugn LIHPSHNE LweTUBHSSILGHL Coudlll HurmLseflen CUWTSEMETS Fams.

Name the chemicals used in Gene Transfer.

12. PAR — GT&IMTE) GT6IGIT ?

What is PAR ?

13. wsoflee NpsliLBhsSsHsme QrarLmbblene dlpsLiLBSgHs e mbgl
Caumu(h5815.

Differentiate Primary introduction from Secondary introduction.

14. gl (U uflewrmob erermned eTese ?

What is Co-evolution ?
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lfley - 3/SECTION - 3

SNl : Spsaramid alamssailey gCaaIbD epenn elamss @@ elenweflldsab.

ellentT eramr 19 -&@ SLL_muns ellenwiefl&Ese]Lb. 3x3=9

Note : Answer any three of the following questions. Question No. 19 is Compulsory.

15.

16.

17.

18.

19.

U (Hse LHML LSl — Counuhsss.

Differentiate Grafting and Layering.

igwsSHen (psHuggeuniser TeneuCLaDd epemmleneri Ll iqwiadl(hs.

List any three significance of ploidy.

cuanfles Ceuermemr &m(H GUETTLIL| PP GUETTESLILIMHLD STEUTLIGEHEE HT6nE

T(H5HIESTL(NEHMETS H(HS.

Give four examples for plants cultivated in commercial agroforestry.

evenLimedleorm Guimemn misTamiudTeaneT aUeTTlILSHE, 6The CLmmLseT Lwem(hésLi-

L®O&mg ?

What are the materials used to grow micro-organism like Spirulina ?

o Ui semsranilliL uHO Sn @GHLY eSS

Write short notes on Bio-monitoring.

[ Hmluys / Turn over



6627 6
lfley - 4/SECTION - 4
GDILLY : Semensg clamés@Ers@h edenwafldsab. 2x5=10

Note : Answer all the questions.

20. (o) sHm LEIHSEF CHTEMs WOTGHENL STauliLHLD LIGRTLSET Wrane ?
S|6VEVG)
(=) PpaLWHD @EIGSSTeW 6T(h&gISsTL (L6 l6ms@s.
(a) Give the characteristic features of Anemophilous plants.

OR

(b) Explain the incomplete dominance with example.

21. (o) eupant Hled smeunmigafler o e6TemenloliL] SHEUEMDLILISZEET 6T(LHSIS.
S|6V6VG

(<) Pudps gCosenbd @ sreurmseaien CFWLOTES POLOHHS WLHMID HSSH6w
PEAUSZIEDSS 555
(a) Enumerate the anatomical adaptations of Xerophytes.

OR

(b) Give an account of active principle and medicinal values of any two plants
you have studied.
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U@&3 - II/PART-II
(2_udlfl - eSlevridluiev)/(BIO-ZOOLOGY)
(&liGluevsT&6T : 35)/(Marks : 35)
lfley - 1/SECTION - 1
GO : () Semensg lamss@rs@En ela wafldse. 8x1=8
(i) Oar@ssiul(herer wrHm el seafled Wsab ghymLw alanLamws
Camboshsgs ML HLer el ulameanb Carsg er(pseLb.
Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

1. uliLmeu Slewr_Grmb eTameld AMLP&SLILIHS .
(1) 13 - 1gerpGam (=1) 18 - 1genpGamLil
(@) Lrermm HewrlCrmid () 21 - igenpGamd

Patau’s Syndrome is also referred to as :
(a) 13 - Trisomy (b) 18 - Trisomy

(c) Turner’s Syndrome (d) 21 - Trisomy

2. QupCorir 2 L aller QeuafiiL@duier Qm(HhEeT o (Heurse @eUalrm enLp&sLi-

LEEDg :

(=) Ggbwdsar () =8 Pélpsd

(&) serga () U pélpse

If Buds are formed on the outer surface of the parent body, it is called as :
(a) Gemmules (b) Endogenous budding

(c) Fragmentation (d) Exogenous budding

3. &bumeler HFsb srewTliLI(houg) :

(=) IgD (<) IgE (&) eM () IgA
Colostrum is rich in :

(a) IgD (b) IgE (c) IgM (d) IgA

A [ Hmluys / Turn over
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4.

QIGTLITo sCLITTETSET cTETLG)

(=) 24 erdlim QumpL_seir

(=) ursleflw erdliliyls QumpLger
(8) yepens erdlmiiyts CQummLser
(FF) emeumev el GummLger
Interferons are :

(a) anti-biotics

(b) anti-bacterial substances

(c) anti-fungal substances

(d) anti-viral substances

SMHSSanL rsSlanrsefler smrarrliLi(heug) :
(1) Mergedlen woHmID LCrmemsLg 6om

(<=,) LUGrmGlegevig Grmenr HmiD e Grmenes
(@) UGrrGlegevigq Grmen wHmiDd Mevmdendler
() rrevl_Grmegerr wmmid Mevmgeden
Contraceptive pills contain :

(a) Relaxin and prolactin
(b) Progesterone and estrogen

(c) Progesterone and relaxin
(d) Estrogen and relaxin

waisafler Cepmililjemene ghUBSSHIeUS

(<=1) yGprGLnGameum (<) emauren
(®) Uepens (FF) umsleflwm
The Athlete’s foot disease in human is caused by :
(a) Protozoa (b) Virus

(c) Fungi (d) Bacteria

aumfL &rflefermed s shHenwwmer UTdliLsErsEE 2-eremmdl ol Hlepeulded
2 @rer edlewmidlerd :

(1) @meurpedlser (=) UTQIL g ST

(@) wpLCamedser (FF) UDEGUSET

The animals that are at high risk of extinction due to habitat destruction is :
(a) Amphibians (b) Mammals

(c) Echinoderms (d) Birds



SO : gCsemIbd BremE@ alamss@Ens@ wlHib e wellésab.

9

geantlsafled L bs eTarrbent sapaaer Bésl LwearuBL QBT

(=) QFvayCeen (<) QusigGarev
(@) yGrmigGuwen (FF)  eSlGuen
Enzyme used for removing oily stains from the clothes :
(a) Cellulase (b) Pectinase

(c) Protease (d) Lipase

Nlfley - 2/SECTION - 2

Note : Answer any four of the following questions.

9.

10.

11.

12.

13.

14.

smleruF seaufler epermn (HE@GSET Wmeneu ?

What are the three layers of uterine wall ?

6627

4x2=8

wruems GO gd Qurmerdn GOUIHEET eTar SerpEsLIL(HLME WTamal ?

Which are called as non-sense codons in genetic code ?

&ael uflenrmow, aqfl Lflewrmow — Caumu(HS5515.

Differentiate Convergent Evolution and Divergent Evolution.

MEUTEVEET (P LANSTHEHEE JgHUBL Crriger eaneuCuaid Brendlen

QUUITEMETS Fnmis.

Name any four human viral diseases.

clfleur&sd S(ms.
(1) CFC
(<23) PAN

Give the expansion of :
(a) CFC
(b) PAN

@aneutin Caumurhepw 2 ulfl@mbiger eramlenel wWmanel ? T(hH&SIGSTL(H&6T

S5(HS.

What are Stenotherms ? Give examples.

[ Hmluys / Turn over
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91fley - 3/SECTION - 3

@Y . Epsasramid elemss@ner gCHeID epesTm lamésErdE el walldEse,.

cllerm eremr 19 -&(@ SL_LMung aflenwiefl&se, . 3x3=9
Note : Answer any three of the following questions. Question number 19 is
Compulsory.

15. @iy WL e erammmed eremmar ? eT(HSSHEET(H S(Hs.

What is meant by regeneration ? Give example.

16. @CrrCurCsmb Cgm@LUL euanyuULSHer LWeTsH6T eTaneUCWEILD epeiThleneT 6T(LpSIs.

Mention any three applications of karyotyping.

17. g@nem C&d Lrsbd erammme eTeier ? jeummleT LIWLGTSEMET 6T(Lpg)s.

What is single cell protein ? Write its uses.

18. Ge 261 UTHSTUEADGL, G Celal urgsTUEADGL QL Guw o dTer
Caumum(hger wreneu ?

What are the differences between in-situ and ex-situ conservation ?

19. wpdlr 2.4 dassmer Lgl1l68 2 Feb Ldper CsTarL Q&6 wramel ?
Sjeupmlen s 2 HUSSH ST pPOTSTID TGl ?

What are the multipotent cells involved in replenishing adult tissue ? What is
the rich source for it ?
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Yifley - 4/SECTION - 4
GO : eeumbd elaTEsEnsE elenwalldse,L. 2x5=10

Note : Answer the following questions.

20. (=) wails alpg Geveller Sewliemul UL ggLer eleuflssab.
S|6V6VG
(<=,) @wwCearm@CGermalen janwlianll SEHS LILSSIL 6T 6llaTsEs.
(a) Describe the structure of human sperm with a neat labelled diagram.
OR

(b) Explain the structure of immunoglobulin with suitable diagram.

21. (=) Yrs 2mussHullen, oslCearm ojblomisamer sLSgleudled (psHlu Liki@ eudls@n
RNA -epeu UL SgIL e allenéEs.

S|6V6VG

(<) 2lflu veaimsssarerwuller @QUEGDHE WSHW srremwrear wells

Qeweurhseer alflengliLi(hgs)s.

(a) Explain the structure of RNA which plays a vital role in protein synthesis by
transferring amino acids with diagram.

OR
(b) List out the human activities causing biodiversity loss.

-00o0-






